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Ot hLER (1) 0.06 0.06 — PA-1000
QB RIZAT1 0.06 0.06 — PA-1000
QEKIG2 0.04 0.05 — PA-1000
@ REREER 0.06 0.06 — PA-1000

3/2(K)EBh —

: O RETER 0.08 0.08 — PA-1000

GREEILER 0.06 0.06 — PA-1000
@EEL 0.06 0.07 — PA-1000
fbi5 0.07 0.07 — PA-1000
Ot hLER (1) 0.05 0.05 — PA-1000
QBRIZAT1 0.05 0.06 — PA-1000
QIERIZAT2 0.05 0.05 — PA-1000
@ RERFER 0.05 0.05 — PA-1000

9/7(R)EN -

: O RETER 0.06 0.07 — PA-1000
@REEALER 0.07 0.06 — PA-1000
@EELE 0.04 0.06 — PA-1000
b5 0.05 0.07 — PA-1000
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Ot hLER (1) 0.06 0.06 — PA-1000
QB RIZAT1 0.05 0.06 — PA-1000
QEKIG2 0.07 0.08 — PA-1000
@ REREER 0.06 0.06 — PA-1000

1/T1(R) BN —

: O RETER 0.07 0.07 — PA-1000

GREEILER 0.06 0.06 — PA-1000
@EEL 0.06 0.07 — PA-1000
fbi5 0.07 0.07 — PA-1000
Ot hLER (1) 0.05 0.06 — PA-1000
QBRIZAT1 0.07 0.05 — PA-1000
QIERIZAT2 0.06 0.06 — PA-1000
@ RERFER 0.05 0.06 — PA-1000

1/73(&) BN -

: O RETER 0.06 0.07 — PA-1000
@REEALER 0.06 0.06 — PA-1000
@EELE 0.06 0.06 — PA-1000
b5 0.07 0.06 — PA-1000
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Ot hLER (1) 0.07 0.07 — PA-1000
QB RIZAT1 0.07 0.06 — PA-1000
QEKIG2 0.06 0.06 — PA-1000
@ REREER 0.05 0.05 — PA-1000

1/9(R) BN —

: O RETER 0.07 0.08 — PA-1000
GREEILER 0.09 0.08 — PA-1000
@EEL 0.06 0.07 — PA-1000
fbi5 0.06 0.07 — PA-1000
Ot hLER (1) 0.05 0.06 — PA-1000
QBRIZAT1 0.06 0.05 — PA-1000
QIERIZAT2 0.06 0.06 — PA-1000
- @ RERFER 0.06 0.05 — PA-1000

7/5(&)EY —
O RETER 0.06 0.06 — PA-1000
@REEALER 0.06 0.06 — PA-1000
@EELE 0.06 0.05 — PA-1000
b5 0.06 0.07 — PA-1000
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Ot hLER (1) 0.06 0.06 — PA-1000
QB RIZAT1 0.06 0.07 — PA-1000
QEKIG2 0.06 0.07 — PA-1000
@ REREER 0.06 0.07 — PA-1000

1/8 () BEN —

: O RETER 0.07 0.07 — PA-1000

GREEILER 0.05 0.05 — PA-1000
@EEL 0.06 0.06 — PA-1000
fbi5 0.07 0.08 — PA-1000
Ot hLER (1) 0.05 0.06 — PA-1000
QBRIZAT1 0.06 0.07 — PA-1000
QIERIZAT2 0.05 0.05 — PA-1000
@ RERFER 0.05 0.05 — PA-1000

172X EEN -

: O RETER 0.07 0.07 — PA-1000
@REEALER 0.07 0.07 — PA-1000
@EELE 0.06 0.05 — PA-1000
b5 0.07 0.07 — PA-1000
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gt ER (1) 0.05 0.06 — PA-1000
Q1B EHIGAT1 0.07 0.07 — PA-1000
QI EKIGAT2 0.05 0.06 — PA-1000
1/5(8) BY @ffs:arﬁﬁ%li 0.06 0.07 — PA-1000
O ETEED 0.10 0.09 — PA-1000
@®EILER 0.07 0.07 — PA-1000
@flEL 0.08 0.09 — PA-1000
fibis 0.08 0.09 — PA-1000
Ot L ER (1) 0.06 0.06 — PA-1000
QIEERIZAT1 0.06 0.06 — PA-1000
K IZFT2 0.05 0.04 — PA-1000
= @ EREED 0.06 0.08 — PA-1000
18U RY O ETEED 0.09 0.08 — PA-1000
@REILER 0.07 0.09 — PA-1000
@RIEL 0.07 0.08 — PA-1000
whi5 0.06 0.07 — PA-1000
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gt ER (1) 0.06 0.05 — PA-1000
Q1B EHIGAT1 0.06 0.06 — PA-1000
QI EKIGAT2 0.06 0.05 — PA-1000
- @ EREED 0.09 0.07 — PA-1000
/6 (R A O ETEED 0.09 0.08 — PA-1000
©REALE 0.08 0.08 — PA-1000
@fElE L 0.06 0.06 — PA-1000 2941 AAIE M DB
fibis 0.08 0.09 — PA-1000
Ot L ER (1) 0.06 0.06 — PA-1000
QIEERIZAT1 0.08 0.07 — PA-1000
K IZFT2 0.05 0.06 — PA-1000
14(A BN |@RERER 0.08 0.07 — PA-1000
O ETEED 0.11 0.11 — PA-1000
@REILER 0.07 0.07 — PA-1000
whi5 0.08 0.09 — PA-1000
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Ot ER (1) 0.05 0.06 — PA-1000
QIR IZFT 1 0.06 0.07 — PA-1000
- IBELIGAT2 0.04 0.06 — PA-1000
1/%?5}3?%» D ERED 0.05 0.06 — PA-1000
O REER 0.09 0.11 — PA-1000
@RREILER 0.06 0.09 — PA-1000
fibi5 0.08 0.09 — PA-1000
Ot ER (1) 0.05 0.06 — PA-1000
QIR IZFT1 0.05 0.06 — PA-1000
IEERIZFT2 0.04 0.05 — PA-1000
17/8(K)EY | @RERER 0.06 0.07 — PA-1000
O ETER 0.07 0.08 — PA-1000
@REILER 0.07 0.08 — PA-1000
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Ot hLER (1) 0.06 0.07 — PA-1000
QB RIZAT1 0.07 0.08 — PA-1000
QEKIG2 — PA-1000 TEHRO AR
/770K BN |@OKRERER 0.07 0.09 — PA-1000
O RETER 0.08 0.11 — PA-1000
GREEILER 0.07 0.09 — PA-1000
b1 — PA-1000 IE=EdhDAERE
Ot hLER (1) 0.06 0.07 — PA-1000
QBRIZAT1 0.09 0.09 — PA-1000
QEKIG2 — — — PA-1000 TEhQARE
10/2(R)EN  |@RERED 0.08 0.09 — PA-1000
O RETER 0.09 0.11 — PA-1000
@REEALER 0.08 0.08 — PA-1000
b5 — — — PA-1000 ITEROAERE
Ot rhnER (1) 0.06 0.06 — PA-1000
QBRIGAT1 0.06 0.08 — PA-1000
. QIERIZAT2 0.07 0.09 — PA-1000
7/20K) @ BERE 0.06 0.07 — PA-1000
O RETEER 0.13 0.11 — PA-1000
@REEALER 0.10 0.11 — PA-1000
b5 0.10 0.11 — PA-1000
O#b i ER (1) 0.07 0.07 — PA-1000
QISR 0.10 0.09 — PA-1000
A " QEKIGT2 0.07 0.09 — PA-1000
AOREN (o rEms 0.06 0.06 — PA-1000
O ETER 0.10 0.10 — PA-1000
®REEALER 0.07 0.07 — PA-1000
b5 0.10 0.09 — PA-1000
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Dt dilER (L) 0. 08 0. 08 — PA-1000
QIEERIZAT1 0.10 0. 09 — PA-1000
IEEKIZAT2 0. 09 0. 11 — PA-1000
S/ka) @ BERED 0.19 0.16 — PA-1000
i O BETEED 0. 11 0. 11 — PA-1000
©REILE 0.19 0.17 — PA-1000
i5 0. 09 0. 11 — PA-1000
Ot ER (1) 0. 06 0. 06 — PA-1000
QBRI 0. 08 0. 08 — PA-1000
B IHA2 0. 08 0. 09 — PA-1000
Z/HE;L*) @ BEm D 0.17 0.14 — PA-1000
i O BETEED 0. 09 0.08 — PA-1000
OREILE 0.19 0.16 — PA-1000
whi5 0. 08 0. 09 — PA-1000
Ot ER (1) 0. 07 0. 07 — PA-1000
QIS 0. 08 0. 09 — PA-1000
THoes |DEBIHH2 0.12 0.18 — PA-1000
1/$7(k) @ REREED 0.13 0.14 — PA-1000
A O BETEED 0.10 0. 11 — PA-1000
OREILED 0. 20 0. 20 — PA-1000
] 0. 10 0. 11 — PA-1000
O ER (1) 0. 06 0. 06 — PA-1000
QIEERIZFT 1 0. 08 0.10 — PA-1000
QIEEEIZFT2 0. 08 0. 08 — PA-1000
122%;)(*) DR ERED 0.12 0.14 — PA-1000
O EED 0.12 0.10 — PA-1000
@BEILEB 0.15 0.16 — PA-1000
fibi5 0. 08 0. 10 — PA-1000
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gt ER (1) 0. 07 0. 07 — PA-1000
Q1B IGFT1 0.10 0.10 — PA-1000
QI EKIGAT2 0.10 0. 11 — PA-1000
11/%?,59@ @ EREED 0.19 0.16 — PA-1000
O ETED 0. 11 0.12 — PA-1000
@®EILER 0.18 0.16 — PA-1000
fibis 0. 08 0. 09 — PA-1000
O L ER (1) 0. 06 0. 06 — PA-1000
QIEERIZAT1 0. 07 0.08 — PA-1000
QIEEKIZFT2 0. 09 0.10 — PA-1000
105/%15)5” @ EREED 0.13 0.13 — PA-1000
O ETEED 0. 09 0. 09 — PA-1000
©®REILED 0.13 0.12 — PA-1000
i 0. 09 0. 09 — PA-1000
Ot ER (1) 0. 07 0. 07 — PA-1000
QIEERIZAT1 0.08 0. 09 — PA-1000
IEEKIZFT2 0. 09 0. 11 — PA-1000
9/%(1*) @ REREED 0. 11 0.13 — PA-1000
O FETEED 0. 11 0.12 — PA-1000
@®EILER 0.14 0.12 — PA-1000
i 0. 09 0.10 — PA-1000
Ot ER (L) 0. 08 0. 08 — PA-1000
Q1B IHFT1 0.12 0. 10 — PA-1000
QIEFRIFAT2 0. 09 0. 10 — PA-1000
8/;%;()*) @ EEFIER 0. 09 0. 10 — PA-1000
O ETEED 0.18 0.12 — PA-1000
©EILER 0. 09 0. 11 — PA-1000
bz 0. 09 0.10 — PA-1000
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gt ER (1) 0. 08 0. 08 — PA-1000
Q1B IGFT1 0. 08 0. 09 — PA-1000
QI EKIGAT2 0. 09 0.10 — PA-1000
7/;;3&) @ EREED 0.17 0. 15 — PA-1000
O ETED 0. 11 0. 11 — PA-1000
@®EILER 0.12 0.13 — PA-1000
fibis 0. 09 0.10 — PA-1000
O L ER (1) 0. 07 0. 07 — PA-1000
QIEERIZAT1 0.10 0.10 — PA-1000
QIEEKIZFT2 0.10 0.10 — PA-1000
e/ﬁgxk) @ BEm D 0.14 0.14 — PA-1000
O ETEED 0.13 0.12 — PA-1000
©®REILED 0.17 0.16 — PA-1000
i 0. 09 0.10 — PA-1000
Ot ER (1) 0. 07 0. 07 — PA-1000
QIEERIZAT1 0.13 0.10 — PA-1000
IEEKIZFT2 0. 09 0.10 — PA-1000
5/1%%*) @ REREED 0. 11 0. 11 — PA-1000
O FETEED 0. 09 0.10 — PA-1000
OREILED 0.08 0. 09 — PA-1000
i 0. 08 0. 09 — PA-1000
Ot ER (L) 0. 08 0. 08 — PA-1000
Q1B IHFT1 0. 11 0.10 — PA-1000
QIEFRIFAT2 0. 08 0.10 — PA-1000
4/;(5*) @ EEFIER 0.13 0.12 — PA-1000
O ETEED 0. 23 0. 15 — PA-1000
@BEILEB 0. 11 0.12 — PA-1000
bz 0. 09 0.10 — PA-1000
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1IFFEO(EN) — 0. 08 0. 07 PA-1000
FHE (BMN) — 0. 06 0. 07 PA-1000
3/130K) Bh |sF#=(BN) — 0. 06 0. 07 PA-1000
AFHE(BMN) — 0.08 0. 07 PA-1000
KEE(BN) — 0. 06 0. 05 PA-1000
gt ER (1) 0. 09 0. 08 — PA-1000
Qb5 0.10 0. 11 — PA-1000
L, |ORBERED 0.16 0.15 — PA-1000
S8R Hn @ EREED 0.19 0.16 — PA-1000
O ETEED 0.08 0. 11 — PA-1000
OREEILER 0. 26 0. 23 — PA-1000
16/26 (E2)



BHE=Z/NFRICBITOMH R R EFR

Fr7Eh : 48336-15

TR 244EFE
B B - X IR I AEERATOY—ANEER) | e s
5¢m 50c¢m 100¢cm
1F#HZE(BN) — 0. 06 0. 08 PA-1000
2QFHZE (BA) — 0. 08 0. 07 PA-1000
276(K) M |3FHZEERA) — 0. 07 0. 08 PA-1000
AFHE(BMN) — 0.08 0.08 PA-1000
KEEERN) — 0. 05 0. 05 PA-1000
gt ER (1) 0. 08 0. 07 — PA-1000
Qb5 0.10 0.10 — PA-1000
oy g |ORRBERED 0.14 0.15 — PA-1000
2750 W @ EREED 0.15 0.14 — PA-1000
O ETEED 0.08 0. 11 — PA-1000
OREEILER 0.12 0.13 — PA-1000
IFSZE(BA) — 0. 08 0. 08 PA-1000
2QFHZE (BA) — 0. 07 0. 08 PA-1000
117(K) BEh |3F&=(BA) — 0. 07 0. 08 PA-1000
AFHE(BMN) — 0. 08 0.08 PA-1000
AKEEERN) — 0. 05 0. 06 PA-1000
Ot ER (1) 0.08 0.13 — PA-1000
Qb5 0. 09 0.10 — PA-1000
FRE255 QR ERED 0.16 0.15 — PA-1000
1790K) B |@wpErss 0. 21 0.16 — PA-1000
G ETEER 0.14 0. 11 — PA-1000
@REILEB 0.19 0.16 — PA-1000
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1F#HZE(BN) — 0. 08 0. 07 PA-1000
2QFHZE (BA) — 0. 07 0. 08 PA-1000
12713(K) BN |SFE=E(BR) — 0. 08 0. 08 PA-1000
AFHE(BMN) — 0.08 0. 08 PA-1000
KEEERN) — 0. 05 0. 05 PA-1000
gt ER (1) 0.10 0. 09 — PA-1000
Qb5 0.10 0.12 — PA-1000
e, |OBBERED 0.12 0.14 — PA-1000
127500 @ EREED 0.19 0.17 — PA-1000
O ETEED 0.13 0.13 — PA-1000
OREEILER 0.10 0.12 — PA-1000
O L ER (1) 0. 09 0.10 — PA-1000
Qb5 0.14 0.13 — PA-1000
e, |OBBERED 0.13 0.15 — PA-1000
N8 @ EREED 0.19 0. 18 — PA-1000
O FETEED 0. 09 0. 11 — PA-1000
©®REILER 0. 29 0. 26 — PA-1000
1IFS=E(BA) — 0. 07 0. 07 PA-1000
FH = (BMN) — 0. 08 0. 07 PA-1000
1./6(K) M |3F&%=(BW) — 0. 08 0. 08 PA-1000
AFHE(BWN) — 0. 08 0. 06 PA-1000
KEEERN) — 0. 05 0. 06 PA-1000
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gt ER (1) 0. 08 0. 09 — PA-1000
Qb5 0.08 0.10 — PA-1000
e, |ORBERED 0.16 0.14 — PA-1000
1074CK) W @ EREED 0.19 0.18 — PA-1000
O ETEED 0.13 0.12 — PA-1000
@RFEILER 0. 11 0.10 — PA-1000
1F#HZE(BN) — 0. 07 0. 08 PA-1000
2QFHZE (BA) — 0. 07 0. 08 PA-1000
10730K) M |3SF&ZE(BWN) — 0. 08 0. 07 PA-1000
IFREE(BN) — 0. 08 0. 08 PA-1000

KEE(ERN) — — — PA-1000 TEFDHIAZIE
IFSZE(BA) — 0. 05 0. 06 PA-1000
2QFHZE (BA) — 0. 07 0. 07 PA-1000
9/13(K) BN |3F&=(EA) — 0. 07 0. 07 PA-1000
AFHE(BMN) — 0. 06 0. 07 PA-1000

AEE(ERN) — — — PA-1000 TERD=HIIAZIL
Ot ER (1) 0. 09 0. 09 — PA-1000
Qb5 0. 08 0.10 — PA-1000
., |ORERE 0. 20 0.15 — PA-1000
80K T @ REREED 0.16 0.16 — PA-1000
O FETEED 0. 20 0. 15 — PA-1000
@RBEILEB 0. 09 0.10 — PA-1000
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1IFFEO(EN) — 0. 09 0. 08 PA-1000
2QFHZE (BA) — 0. 09 0. 08 PA-1000
876(A) ®m IFHE (BA) — 0. 07 0. 08 PA-1000
AFHE(BMN) — 0.08 0.08 PA-1000
gt ER (1) 0. 08 0. 09 — PA-1000
Qb5 0.10 0.13 — PA-1000
., |OBERE 0. 25 0.18 — PA-1000
sra@) Wn @ EREED 0.22 0. 21 — PA-1000
O ETEED 0.12 0.14 — PA-1000
OREEILER 0. 20 0. 20 — PA-1000
IFREOEA) — 0. 09 0. 08 PA-1000
2QFHZE (BA) — 0. 08 0. 07 PA-1000
1712(K) &Y |3SF&ZE(BWN) — 0. 07 0. 08 PA-1000
AFHE(BMR) — 0. 08 0. 09 PA-1000
AKEEERN) — 0. 06 0. 07 PA-1000
Ot ER (1) 0.13 0. 09 — PA-1000
Qb5 0. 09 0. 11 — PA-1000
. |OBERE 0. 26 0. 23 — PA-1000
140K T @ REREED 0. 23 0.19 — PA-1000
O FETEED 0. 24 0. 22 — PA-1000
@REILEB 0.19 0. 25 — PA-1000
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1F#HZE(BN) — 0. 08 0. 09 PA-1000

L. |2FEE(EBNR) — 0. 08 0. 08 PA-1000

6/18(R) HRn FHE (BR) —_ 0.10 0. 09 PA-1000
KEEERN) — 0. 06 0. 06 PA-1000

gt ER (1) 0. 09 0.10 — PA-1000

Qb5 0.13 0.14 — PA-1000

., |OBERE 0. 20 0.17 — PA-1000

S8 Wn @ EREED 0. 11 0.12 — PA-1000
O ETEED 0. 23 0. 22 — PA-1000

OREEILER 0. 11 0.14 — PA-1000

Ot b ER (1) 0.12 0. 11 — PA-1000

Qb5 0. 09 0.10 — PA-1000

= |OKERER 0. 24 0.18 — PA-1000

S/10R) =Y @ REREED 0.16 0.16 — PA-1000
O FETEED 0. 25 0. 20 — PA-1000

©®REILER 0.18 0.18 — PA-1000

1IFS=E(BA) — 0. 08 0. 08 PA-1000

5,90k) Y |2F&=E(BA) — 0. 08 0. 07 PA-1000
AKEEERN) — 0. 06 0. 07 PA-1000

1IFS=E(BA) — 0. 07 0. 06 PA-1000

4.13(&) B |2F&%=E(BR) — 0. 08 0. 08 PA-1000
KEEERN) — 0. 06 0. 06 PA-1000
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O Y {ES) 0.12 0. 11 — PA-1000
Qb5 0.12 0.12 — PA-1000
=, |ORERER 0. 21 0.17 — PA-1000
@) BN e 0. 17 0. 17 — PA-1000
O EFED 0. 22 0. 19 — PA-1000
@RFEILEB 0. 15 0.15 — PA-1000
IFR=E(BA) — 0. 09 0. 09 PA-1000
<. |2FEEERN) — 0. 09 0. 09 PA-1000
32X Wn FHRE(BA) — 0.10 0. 09 PA-1000
AREE(EN) — 0. 07 0. 08 PA-1000
O b ER (1) 0.13 0.13 — PA-1000
Q5 0. 09 0. 09 — PA-1000 3A12BIZHOABZZLEL .
<, |ORBERED 0. 20 0. 20 — PA-1000
Ll ey 0. 22 0 22 — PA-1000
OREFED 0.15 0.18 — PA-1000
@FEILER 0.27 0. 22 — PA-1000
IFR=E(BA) — 0. 07 0. 07 PA-1000
2/13(B) £Y |2F%=E(BRA) — 0. 06 0. 08 PA-1000
AKEE(ERN) — 0. 06 0. 06 PA-1000
O b ER (1) — 0. 11 0. 11 PA-1000
Qb5 0. 29 0. 30 — PA-1000
" QR ERED — 0.17 — PA-1000
273(&) W oy — 0. 17 — PA-1000
O EETEER — 0.15 — PA-1000
@RFEILEB — 0.18 — PA-1000
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1F#HZE(BN) — 0. 08 0. 08 PA-1000
1.718(K) BN |2FHE(BA) — 0. 09 0. 07 PA-1000
KEE(BN) — 0. 06 0. 06 PA-1000
gt ER (1) — 0.12 0.12 PA-1000
Qb5 0. 26 0. 30 — PA-1000
K244 QR ERED — 0. 23 — PA-1000
1712(K) BN |@kperLn — 0.17 —_ PA-1000
O ETEED — 0.16 — PA-1000
@®EILER — 0. 22 — PA-1000
IFSZE(BA) — 0. 09 — PA-1000
127140K) £Y |2F&ZE(BRN) — 0. 09 — PA-1000
KEEEN) — 0. 07 — PA-1000
Bt ER (L) — 0. 15 0.14 PA-1000
L. |5 0. 15 — — PA-1000
12770K) B BRERIEYS VR — 0. 24 — PA-1000
REALEIT S0l — 0. 36 — PA-1000
IFE=E(BA) — 0.08 — PA-1000
QFHE (BR) — 0.08 — PA-1000
11.722(K) BN |SFE=E(BR) — 0. 08 — PA-1000
IFHE(BR) — 0.08 — PA-1000
KEE(EN) — 0. 07 — PA-1000
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RR234ERE
= —— AIEE (A7 —N)LNER .
AEE X A ARMATO—ZNTER) | s %
5cm 50¢m 100c¢m
BEBRST7ALFIIBEOT — 0. 09 — PA-1000
BRERIEMHOT — 0.19 — PA-1000
11.721(8) Bh -
" lsEEIS s — 0.19 — PA-1000
1E PR HE A & — 0.22 — PA-1000
— — -
1 90k) B o ER () 0.16 0.15 PA-1000
b1 0.16 — — PA-1000
— — -
10260K) B EhohiER (1) 0.14 0.13 PA-1000
b1 0. 23 — — PA-1000
1F&EZE (BA) — 0. 07 — PA-1000
FHE(BA) — 0.08 — PA-1000
IFHE(BA) — 0. 07 — PA-1000
AFHE(BN) — 0. 07 — PA-1000
e —
10200K) 2Y ﬁnsiﬁﬁ(ém) — 0. 06 — PA-1000
mEL — 0. 28 — PA-1000
ABEAORBAEE — 0. 25 — PA-1000
BHih — 0. 21 — PA-1000
EE — 0. 28 — PA-1000
IEFHEALE — 0.19 — PA-1000
i\ 3 _ —
10190K) BY i dhiER () 0.15 0.15 PA-1000
fibi5 0. 36 — — PA-1000
i 3 _ _
10120K) BN EhhiER (L) 0.17 0.18 PA-1000
b5 0. 26 — — PA-1000
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FRR23ERE
e e BAIEE(RAoOS—XN)LER) .
pi S| B TE #h R BITE
2l 5E B - X% Bl 7E th — — o Bl E 25 "E
1050k &Y Euth i ER (1) — 0.16 0.15 PA-1000
b5 0. 30 — — PA-1000
&R () — 0.16 0.15 PA-1000
9 ==
/280K BN e 0. 24 — — PA-1000
9 22(kK) 2Y %&i’fqﬂtuﬁﬂ(i) — 0.16 0.16 PA-1000
b5 0. 32 — — PA-1000
1FEE(BN) — 0. 08 — PA-1000
QFHE(BMA) — 0. 08 — PA-1000
IFHE(BA) — 0.08 — PA-1000
AFHE (BA) — 0. 08 — PA-1000
- AEEERN) — 0. 07 — PA-1000
9,/20(k) 2L -
(%) ‘ mEL — 0. 34 — PA-1000
ABEAORBAEE — 0. 20 — PA-1000
EHih — 0. 23 — PA-1000
B — 0. 25 — PA-1000
IEFHERE — 0. 20 — PA-1000
0 140K) Eh %&igq::u%ﬂ(:t) — 0.16 0. 16 PA-1000
fibi5 0. 25 — — PA-1000
0. T0K) BER %&igq::u%ﬂ(:t) — 0.16 0.17 PA-1000
fibi5 0.17 — — PA-1000
8./30(k) R %&igq::u%ﬂ(:t) — 0.18 0.18 PA-1000
fibi5 0. 45 — — PA-1000
IFE=E(BA) — 0. 08 — PA-1000
QFHE(BMA) — 0. 08 — PA-1000
8.726(&) BE
726(8) BN FHE(BR) — 0. 08 — PA-1000
ABEEN) — 0. 07 — PA-1000
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T35
Hil=F B == y: TiE (7 O —AN )L ERE .
BB R B AEEEATAL—ANEER) | e =
5cm 50c¢m 100c¢m
3 — . -
6 2a0K) En PoEHDE (L) 0.18 0.18 PA-1000
B 0.15 — — PA-1000
3 — . -
817K B Bt ER (L) 0.17 0.17 PA-1000
B 0. 37 — — PA-1000
3 — . -
8100k Eh D ER (L) 0.16 0. 16 PA-1000
Bi5 0. 30 — — PA-1000
3 — . -
830K Y St L ER (1) 0. 20 0.19 PA-1000
ke 0. 34 — — PA-1000
— — -
o0k sy [PEERDE ) 0. 20 0. 20 PA-1000
ke 0. 34 — — PA-1000
— — -
1200k 2y [PEERDEE) 0.19 0.19 PA-1000
B 0. 20 — — PA-1000
1711(H) Bh |EihdhEs (L) — 0. 27 0. 22 RDS-30
174(R) £Y |BitidubER (L) — 0. 29 0. 24 RDS-30
6727(A) €Y |EhdiEs(1) — 0. 25 0. 25 RDS-30
— — -
6.20(8) gy [PUERDLEE) 0. 24 0.19 RDS-30
i 0. 43 — — RDS-30
T 234 Bt ER (L) — 0. 20 0.18 RDS-30
6/13(A) EY |mip 0. 28 — — RDS-30
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